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th 1RollA x o] gH2 FoHA?

20-12°

O 22 @ 26 3@ 30 @)34

90 = x + (2x — 12)
3x—12 =90
L x=234




3. o= "M w9 2717

2L—95° r+15°

O 25° @ 30° ® 35° @)40° ® 45°

2x —25° = x + 15°
coLx = 40°
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8. The ZeIA LAOB ©] 2717 B

O 116° ® 118° @ 121°

42-10—A 2+20°
@ 124 (@) 126 X o) &

(4x - 10°) + (x +20°) = 180° ]| B &
5x=170°, % x = 34° o|t}.
whebA] 4x — 10° = 180° — (x 4+ 20°) = 126° ©]c}.




9. AN ZoHEo x°:y°:z°=3:4:5L 0, x 9] F2?

@® 40 @)45 ® 50 @ 55 ® 60

x°:y°:z°:3:4:5°]E§x°:180°><%:45°°]‘:]'.
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13. o3 I8 Zol AAI7Y 12 A 15 E-& 7HelZ o, A3 B3 o]

o|F = Zt Fol|lA &2 £9] Zte] A7]|=?

D 90° @ 87.5° ® 85.5° @82.5° ® 80°
AH2 129 0.5° 220, BH2 1 2o 6° 4 &2& 1t
Aol AlA ] 12 & 7He]Z WiRE 12 A] 15 2ol 2 w77
229l ZtE X (0.5° x 15 = 7.5° o]t}
=30l AA S 12 & 7 wEE 12 A] 15 2o 2 ufj7hZ#]
el Al (552 15 = 90° o]},
wEbA 12 Al 15 22 7l off A3 B3 o] o] F= Zt9]
A7]=90° - 7.5° = 82 5° o]tt.




14. o= 2™A 2x o 2717

3 3x+10°

22+10

D)20° @ 26° ® 35° @ 46° ® 50°

22+10
3T 3T+10°

Z+10

3x+2x+10°+3x+10° =180°
8x = 160°
Solx=20°




15. o5 Z™NA 2x 9 g27

150°

@® 10° 2)20° ® 30° @ 40°

® 50°

90° + 3x = 150°
3x = 60°
o /x = 20°
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16. ThS 73 2o] 4 F A, B, C = 3 A4 9o 317 AB ©] 57
M, BC 9o $4& N ol g, th= § &2 227
) ° * ® ® ®
A M B N C
@ AM =BM © MB = 2NB
- 1— — 1—
© N:§ C @ N:§B
ORON® @ 6,e ® 66
@® Q9,00 ®)9,©,®
© MB =2NB+= ¢ & 9lth




17. & 2o AB = 4BN ©|1, AB & £4& M, BC 9 $H<
o2} 5ttt MN ©] 6ecm & W, AB ] Zo]&?
_bcm -~ o
A M B N C

@ 4cm @ 6cm (@)SCm @ 10cm ® 12cm

AB = 4BN ©]|2 & MB = 2BN o]|t}. wr&tA MB = 4cm ©] 11
AB = 2MB = 8(cm) ©|t}.




18. & 199 A LAOD = 4,COD, /BOE =
3/DOE ¢ u, /COE 9] Z7|=?

@® 30° @ 35° ® 40°
@)45° ® 50°

,

e

/AOC + £COD + /DOE + /EOB

= 3/COD + «COD + /DOE + 3/DOE
= 4,COD + 4/DOE

= 4(2COD + /DOE)

=4/COE = 180°

.. L.COE =45°




19. o= 2™A 2x o 2717

®3r @3 @4 @

® 50°

B

(=x + 60°) + (2x — 30°) + (3x + 10°) = 180°
4x + 40° = 180°

4x = 140°

oo Lx = 35°




